x=-3{y>0}{y<6}




x=2{y>0}{y<6}
y=0{x>—3}{x<2}
y:6{x>—3}{x<2}
x=-3{y<0}{y>-6}
x=-2{y<-15}{y>-5}
x=2{y<0}{y>-6}
x=1{y<—-15}{y>-5}
y:—6{x<—1}{x>—3}
x=—1{y<-5}{y>—-6}
—6<y<-5{-3<x<-1}
x=0{y<-5}{y>-6}
—6<y<-5{0<x<2}
y=—6{0<x<2}
y=—-15{-3<x<2}
x=-2{4<y<5}
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Center: (—0.5,—0.61) Width: 0.742
Angle: 0 Height: 1.1
x=12{4<y<5}
x=.2{4<y<5}

x=-1{4<y<5}



y=4{02<x<1.2}
4<y<b{—2<x<-1}
4<y<5{02<x<1.2}

y:_%x+1ﬁaﬁ<x<—5}

y=2x+15{-05<x<18}

y=24{-28<x<1.8}
y=2x+77{-44<x<-3}
y=—2x+56{2<x<3.3}

y=—-71{-3<x<2}



